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QUESTION 1

Which three statements are true about modifying flexfield values? (Choose three.)
A. The values cannot be disabled.

B. The value description can be changed.

C. The effective dates for a value can be limited.

D. The values can be deleted after they are defined.

E. The values cannot be modified after they are defined.

Correct Answer: BCE

QUESTION 2

ABC Corp. has set up the Asset Category Key Flexfield. It has also set up a Descriptive Flexfield to store vehicle
Information associated with the asset category "Vehicle."

Identify two correct statements (Choose two.)

A. The setting up of the Descriptive Flexfield is mandatory.

B. The Asset Category Flexfield is owned by the Oracle Assets module.

C. The Descriptive Flexfield attributes are associated with tables in the Oracle Assets module.
D. Only the Asset Category Key Flexfield is associated with tables In the Oracle Assets module.

Correct Answer: BC

QUESTION 3

Which two options would you use to restrict the functionality provided by a responsibility? (Choose two.)
A. creating an appropriate role

B. creating an appropriate group

C. constructing a new menu hierarchy

D. defining rules to exclude specific functions

Correct Answer: CD
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QUESTION 4

Which two statements are true regarding partitioning of data by an application? (Choose two.)
A. General Ledger is partitioned by Ledgers.

B. Accounts Payable is partitioned by Ledgers.

C. Fixed Assets are partitioned by Operating Unit.

D. Accounts Receivable is partitioned by Operating Unit.

E. Order Management is partitioned by Inventory Organization.

Correct Answer: AD

QUESTION 5

After registering new data sources, you must complete your Bill Presentment Architecture by creating database views.
How many database views can you create for each data source?

A. one

B. nine

C. three

D. unlimited

Correct Answer: A
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